Tally Sheet RFQ 2382-A: Grass Cutting - Water System

		Grand Landscapes					Seasons Landscapes			
Locatio	ons	Estimated No. of Weekly Cuts	Unit Price Per Cut	Total Price	Unit Price Per Cut			Total Price		
Parks:										
	Lake Kedron Park	33			\$	230.00	\$	7,590.00		
	Starrs Mill Park	33			\$	600.00	\$	19,800.00		
	Lake Horton Park & Field	33			\$	1,345.00	\$	44,385.00		
ks & W	'ells:									
	Peachtree City Water Tank	31			\$	-	\$	-		
	Highway 92 Water Tank	31			\$	-	\$	-		
	Ellis Road Water Tank	31	١,		\$	-	\$	-		
	Crabapple Water Tank	31	W			-	\$	-		
	Horseman's Run Future Tank	31		t			\$	-		
	Hill Road Well	31		h d	\$	-	\$	-		
	Seay Road Well	31		-	\$	-	\$	-		
Plants/	Offices/Pump House:			r						
	Crosstown Water Treatment	22		e w	٠	4 020 00		50,050,00		
	Plant	33			\$	1,820.00 125.00	\$	60,060.00		
	Field Operations	33					\$	4,125.00		
	South Fayette Water Treatment Plant	33			\$	1,920.00	\$	63,360.00		
	Flint River Pump House	31			\$	160.00	\$	4,960.00		
Total P	rice						\$	204,280.00		

Locations		Estimated No. of Bi-Weekly Cuts	Unit Price Per Cut	Total Price	ı	Jnit Price Per Cut	Total Price		
Parks:									
	Lake Kedron Park	17			\$	460.00	\$	7,820.00	
	Starrs Mill Park	17			\$	1,200.00	\$	20,400.00	
	Lake Horton Park & Field	17			\$	2,690.00	\$	45,730.00	
Tanks 8	& Wells:								
	Peachtree City Water Tank	16			\$	-	\$	-	
	Highway 92 Water Tank	16			\$	-	\$	-	
	Ellis Road Water Tank	16	,	A./	\$	-	\$	-	
	Crabapple Water Tank	16	W			-	\$	-	
	Horseman's Run Future Tank	16		t h	\$	-	\$	-	
	Hill Road Well	16		d	\$	-	\$	-	
	Seay Road Well	16		-	\$	-	\$	-	
Plants/	Offices/Pump House:			r e					
	Crosstown Water Treatment Plant	17		w	\$	3,640.00	\$	61,880.00	
	Field Operations	17			\$	250.00	\$	4,250.00	
	South Fayette Water				Ė			, -	
	Treatment Plant	17			\$	3,840.00	\$	65,280.00	
	Flint River Pump House	16			\$	320.00	\$	5,120.00	
Total P	rice						\$	210,480.00	

Tally Sheet RFQ 2382-A: Grass Cutting - Water System

			Worlds	scapes LLC	Yellowstone Landscape			
Locations		Estimated No. of Weekly Cuts	Unit Price Per Cut	Total Price	Unit Price Per Cut	Total Price		
Parks:								
	Lake Kedron Park	33	\$ 475.00	\$ 15,675.00	\$ 190.00	\$ 6,270.00		
	Starrs Mill Park	33	\$ 675.00	\$ 22,275.00	\$ -	\$ -		
	Lake Horton Park & Field	33	\$ 815.00	\$ 26,895.00	\$ 1,575.00	\$ 51,975.00		
ks & W	'ells:							
	Peachtree City Water Tank	31	\$ 325.00	\$ 10,075.00	\$ -	\$ -		
	Highway 92 Water Tank	31	\$ 375.00	\$ 11,625.00	\$ -	\$ -		
	Ellis Road Water Tank	31	\$ 300.00	\$ 9,300.00	\$ -	\$ -		
	Crabapple Water Tank	31	\$ 375.00	\$ 11,625.00	\$ -	\$ -		
	Horseman's Run Future Tank	31	\$ 300.00	\$ 9,300.00	\$ -	\$ -		
	Hill Road Well	31	\$ 300.00	\$ 9,300.00	\$ -	\$ -		
	Seay Road Well	31	\$ 300.00	\$ 9,300.00	\$ -	\$ -		
Plants/	Offices/Pump House:							
	Crosstown Water Treatment Plant	33	\$ 1,500.00	\$ 49,500.00	\$ 1,572.00	\$ 51,876.00		
	Field Operations	33	\$ 385.00	\$ 12,705.00	\$ 190.00	\$ 6,270.00		
	South Fayette Water							
	Treatment Plant	33	\$ 1,500.00	\$ 49,500.00	\$ 1,995.00	\$ 65,835.00		
	Flint River Pump House	31	\$ 325.00	\$ 10,075.00	\$ -	\$ -		
Total P	rice			\$ 257,150.00		\$ 182,226.00		

Locations		Estimated No. of Bi-Weekly Cuts	Bi-Weekly Unit Price		•	Total Price		nit Price Per Cut	7	Total Price	
Parks:											
	Lake Kedron Park	17	\$	515.00	\$	8,755.00	\$	294.00	\$	4,998.00	
	Starrs Mill Park	17	\$	715.00	\$	12,155.00	\$	-	\$	-	
	Lake Horton Park & Field	17	\$	850.00	\$	14,450.00	\$ 2	2,235.00	\$	37,995.00	
Tanks 8	ዪ Wells:										
	Peachtree City Water Tank	16	\$	375.00	\$	6,000.00	\$	-	\$	-	
	Highway 92 Water Tank	16	\$	415.00	\$	6,640.00	\$	-	\$	-	
	Ellis Road Water Tank	16	\$	315.00	\$	5,040.00	\$	-	\$	-	
	Crabapple Water Tank	16	\$	415.00	\$	6,640.00	\$	-	\$	-	
	Horseman's Run Future Tank	16	\$	315.00	\$	5,040.00	\$	-	\$	_	
	Hill Road Well	16	\$	315.00	\$	5,040.00	\$	-	\$	-	
	Seay Road Well	16	\$	315.00	\$	5,040.00	\$	-	\$	-	
Plants/	Offices/Pump House:										
	Crosstown Water Treatment Plant	17	\$ 1,	,600.00	\$	27,200.00	\$ 2	2,233.00	\$	37,961.00	
	Field Operations	17	\$	450.00	\$	7,650.00	\$	285.00	\$	4,845.00	
	South Fayette Water										
	Treatment Plant	17	\$ 1,	700.00	\$	28,900.00	\$ 2	2,935.00	\$	49,895.00	
	Flint River Pump House	16	\$	375.00	\$	6,000.00	\$	-	\$	-	
Total P	rice				\$	144,550.00			\$	135,694.00	

Tally Sheet RFQ 2382-A: Grass Cutting - Water System

		(	Cornerstor	ne o	f Georgia	A Abby Group				
Locations		Estimated No. of Weekly Cuts	_	Init Price Per Cut		Total Price		nit Price Per Cut	Total Price	
Parks:										
	Lake Kedron Park	33	\$	-	\$	-	\$	225.00	\$	7,425.00
	Starrs Mill Park	33	\$	500.00	\$	16,500.00	\$	-	\$	-
	Lake Horton Park & Field	33	\$	750.00	\$	24,750.00	\$	900.00	\$	29,700.00
ks & W	'ells:									
	Peachtree City Water Tank	31	\$	180.00	\$	5,580.00	\$	-	\$	-
	Highway 92 Water Tank	31	\$	180.00	\$	5,580.00	\$	-	\$	-
	Ellis Road Water Tank	31	\$	160.00	\$	4,960.00	\$	-	\$	-
	Crabapple Water Tank	31	\$	180.00	\$	5,580.00	\$	-	\$	-
	Horseman's Run Future Tank	31	\$	160.00	\$	4,960.00	\$	-	\$	-
	Hill Road Well	31	\$	120.00	\$	3,720.00	\$	-	\$	-
	Seay Road Well	31	\$	160.00	\$	4,960.00	\$	-	\$	-
Plants,	Offices/Pump House:									
	Crosstown Water Treatment Plant	33	\$	_	\$	_	\$	_	\$	
	Field Operations	33	\$	-	\$	-	\$	_	\$	-
	South Fayette Water									
	Treatment Plant	33	\$	_	\$	_	\$	_	\$	-
	Flint River Pump House	31	\$	-	\$	-	\$	-	\$	-
Total F	rice				\$	76,590.00			\$	37,125.00

Locations		Estimated No. of Bi-Weekly Cuts	of Bi-Weekly Per Cu			Total Price		nit Price Per Cut	7	Total Price	
Parks:											
	Lake Kedron Park	17	\$	-	\$	-	\$	400.00	\$	6,800.00	
	Starrs Mill Park	17	\$	500.00	\$	8,500.00	\$	-	\$	-	
	Lake Horton Park & Field	17	\$	750.00	\$	12,750.00	\$ :	L,200.00	\$	20,400.00	
Tanks 8	ዪ Wells:										
	Peachtree City Water Tank	16	\$	225.00	\$	3,600.00	\$	-	\$	-	
	Highway 92 Water Tank	16	\$	225.00	\$	3,600.00	\$	-	\$	-	
	Ellis Road Water Tank	16	\$	200.00	\$	3,200.00	\$	-	\$	-	
	Crabapple Water Tank	16	\$	225.00	\$	3,600.00	\$	-	\$	-	
	Horseman's Run Future Tank	16	\$	200.00	\$	3,200.00	\$	-	\$	-	
	Hill Road Well	16	\$	150.00	\$	2,400.00	\$	-	\$	-	
	Seay Road Well	16	\$	200.00	\$	3,200.00	\$	-	\$	-	
Plants/	Offices/Pump House:										
	Crosstown Water Treatment Plant	17	\$	-	\$	_	\$	-	\$	-	
	Field Operations	17	\$	-	\$	-	\$	-	\$	-	
	South Fayette Water Treatment Plant	17	\$	_	\$	_	\$	-	\$	-	
	Flint River Pump House	16	\$	-	\$	-	\$	-	\$	-	
Total P	rice				\$	44,050.00			\$	27,200.00	

Tally Sheet RFQ 2382-A: Grass Cutting - Water System

				Express P	ress	sure Washing	Greenlife Services & More, Inc.				
Locatio	ns	Estimated No. of Weekly Cuts	Unit Price Per Cut			Total Price	ι	Init Price Per Cut		Total Price	
Parks:											
	Lake Kedron Park	33	\$	100.00	\$	3,300.00	\$	55.00	\$	1,815.00	
	Starrs Mill Park	33	\$	365.00	\$	12,045.00	\$	650.00	\$	21,450.00	
	Lake Horton Park & Field	33	\$	500.00	\$	16,500.00	\$	-	\$	-	
ks & W	ells:										
	Peachtree City Water Tank	31	\$	65.00	\$	2,015.00	\$	65.00	\$	2,015.00	
	Highway 92 Water Tank	31	\$	65.00	\$	2,015.00	\$	65.00	\$	2,015.00	
	Ellis Road Water Tank	31	\$	65.00	\$	2,015.00	\$	65.00	\$	2,015.00	
	Crabapple Water Tank	31	\$	65.00	\$	2,015.00	\$	65.00	\$	2,015.00	
	Horseman's Run Future Tank	31	\$	65.00	\$	2,015.00	\$	45.00	\$	1,395.00	
	Hill Road Well	31	\$	65.00	\$	2,015.00	\$	55.00	\$	1,705.00	
	Seay Road Well	31	\$	65.00	\$	2,015.00	\$	50.00	\$	1,550.00	
Plants/	Offices/Pump House:										
	Crosstown Water Treatment Plant	33	\$	1,100.00	\$	36,300.00	\$	-	\$	-	
	Field Operations	33	\$	125.00	\$	4,125.00	\$	-	\$	-	
	South Fayette Water										
	Treatment Plant	33	\$	1,100.00	\$	36,300.00	\$	800.00	\$	26,400.00	
	Flint River Pump House	31	\$	65.00	\$	2,015.00	\$	55.00	\$	1,705.00	
Total P	rice				\$	124,690.00			\$	64,080.00	

Locations		Estimated No. of Bi-Weekly Cuts	I Unit Price		Total Price		Unit Price Per Cut		Total Price	
Parks:										
	Lake Kedron Park	17	\$	100.00	\$ 1,700.00	\$	55.00	\$	935.00	
	Starrs Mill Park	17	\$	365.00	\$ 6,205.00	\$	650.00	\$	11,050.00	
	Lake Horton Park & Field	17	\$	500.00	\$ 8,500.00	\$	-	\$	-	
Tanks 8	& Wells:									
	Peachtree City Water Tank	16	\$	65.00	\$ 1,040.00	\$	65.00	\$	1,040.00	
	Highway 92 Water Tank	16	\$	65.00	\$ 1,040.00	\$	65.00	\$	1,040.00	
	Ellis Road Water Tank	16	\$	65.00	\$ 1,040.00	\$	65.00	\$	1,040.00	
	Crabapple Water Tank	16	\$	65.00	\$ 1,040.00	\$	65.00	\$	1,040.00	
	Horseman's Run Future Tank	16	\$	65.00	\$ 1,040.00	\$	45.00	\$	720.00	
	Hill Road Well	16	\$	65.00	\$ 1,040.00	\$	55.00	\$	880.00	
	Seay Road Well	16	\$	65.00	\$ 1,040.00	\$	50.00	\$	800.00	
Plants/	Offices/Pump House:									
	Crosstown Water Treatment Plant	17	Ś	1,100.00	\$ 18,700.00	\$	_	\$	-	
	Field Operations	17	\$		\$ 2,125.00	\$	-	\$	-	
	South Fayette Water Treatment Plant	17		1,100.00	\$ 18,700.00	\$	800.00	\$	13,600.00	
	Flint River Pump House	16	\$	65.00	\$ 1,040.00	\$	55.00	\$	880.00	
Total P	rice				\$ 64,250.00			\$	33,025.00	